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1. (20%) On April 1, 2019, Jenkins Corporation issued $1,500,000 of 10 percent, 5-year bonds
at a yield of 12 percent compounded semiannually. Interest is payable on April 1 and October
1 of each year. The corporation is a calendar-year corporation. Bond premiums and discounts
are amortized on interest-paying dates and at year-end. On October 1, 2020, Jenkins
reacquired the bonds for retirement when they were selling at 99 on the open market (assume

no call pi'emium). Assume the issue price of the bonds is $1,389,606.

Required: Prepare the journal entries to record bond-related transactions on the following
dates (Round to the nearest dollar.):
a. Aprll,2019

b. October 1, 2019

c. December 31,2019
d. April 1,2020

e. October 1, 2020

2. (26%) On July 1, 2018, the consulting firm of FJUM bought a new computer for $360,000

to help it service its clients more efficiently. The new computer was estimated to have a useful

life of five years with an estimated salvage value of $60,000 at the end of five years. It was

further estimated that the computer would be in operation about 4,500 hours in each of the five

years with some variation of use from year to year. Janet Little, who manages the firm’s internal

operation:s., has asked you to help her decide which depreciation method should be selected for

the new computer. The methods being considered are straight-line, double-declining-balance

and sum-of-the year’s-digits.

Required: ‘

(1) Prepare a schedule showing depreciation for 2018 and 2019 for each of the three methods
being considered. (12%)

(2) For each of the three methods, compute the asset carrying amount that would be reported
on the balance sheet at December 31, 2020. (6%)

(3) Which method would maximize “income before tax™ for the two years (2018-2019)? (4%)

(4) Which method would minimize “tax” for the two years (2018-2019)? (4%)
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1. "Levers of control," in addition to a diagnostic control system, are needed in an organization because

A) diagnostic controls have been found to lead to poor financial performance
B) diagnostic controls have no place in a balanced scorecard system

C) pressure to perform on diagnostic controls may lead to unethical behavior
D) they are mandated by the Financial Accounting Standards Board

— e — —

2. Cap Company has decided to discontinue a product produced on a machine purchased 4 years ago at a cost
of $70,000. The machine has a current book value of $30,000. Due to technologically improved machinery
now available in the marketplace the existing machine has no current salvage value. The company is
reviewing the various aspects involved in the production of a new product. The engineering staff advised that
the existing machine can be used to produce the new product. Other costs involved in the production of the
new product will be materials of $20,000 and labor priced at $5,000. Ignoring income taxes, the costs
relevant to the decision to produce or not to produce the new product would be

(A) $25,000 (B) $30,000 (C) $55,000 (D) $95,000

3. Profits that are lost by moving an input from one use to another are referred to as
(A) Out-of-pocket costs. (B) Cannibalization charges.
(C) Replacement costs. (D) Opportunity costs.

4. Jeff Company sells its single product for $30 per unit. The contribution margin ratio is 45%, and fixed costs
are $10,000 per month. Sales were 3,000 units in April and 4,000 units in May. How much greater is the May
income than the April income?

(A) $10,000 (B) $13,500 (C) $16,500 (D) $30,000
5. Following are the operating results of the two segments of Park Corporation.

| Segment A Segment B Total
Sales $10,000 $15,000 $25,000
Variable costs of goods sold (4,000) (8,500) (12,500)
Fixed costs of goods sold (1,500) (2,500) (4,000)

Gross margin $4,500 $4,000 $8,500
Variable selling and administrative (2,000) (3,000) (5,000)
Fixed selling and administrative (1,500) (1,500) (3,000)

Operating income(loss) 1.000 $(500) $500
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Fixed costs of goods sold are allocated to each segment based on the number of employees. Fixed selling
and administrative expenses are allocated equally. If Segment B is eliminated, $1,500 of fixed costs of goods
sold would be eliminated. Assuming Segment B is closed, the effect on operating income would be a(n) ?

(A) Increase of $500 (B) Increase of $2,000 (C) Decrease of $2,000 (D) Decrease of $2,500

6. A company wants to open a new store in one of two nearby shopping malls. In Mall A, the rent will he
$250,000 per year. In Mall B, the rent will be 4% of gross revenues. Assuming that revenues and all other
elements under consideration are the same for both malls, at what level of revenues will the company be
indifferent between the two malls?

(A) $1,000,000 (B) $4,000,000 (C) $6,250,000 (D) $12,500,000

7. In an insourcing vs. outsourcing decision, the decision process favors the use of total costs rather than unit
costs. The reason is that

(A) Unit cost may be calculated based on different volumes.

(B) lrrelevant costs may be included in the unit amounts.

(C) Allocated costs may be included in the unit amounts.

(D) All of the answers are correct.

8. Rand Corporation is a table manufacturing company that has the following cost structure for producing table
tops.

Unit Costs | Recently, Rand Corporation received an
Direct materials $23.00 offer from Blue Corporation to supply the
Direct labor 12.00 table tops to Rand. Rand is considering
Variable manufacturing overhead 10.00 buying the table tops from Blue instead of
Fixed manufacturing overhead 17.00 manufacturing them internally.
Variable administrative costs 2.00
Fixed administrative costs 3.00 Which one of the following statements is
Total unit costs $67.00 | correct?

(A) Rand should reject Blue's offer if it is less than $47.00 and Rand has excess manufacturing capacity.
(B) Rand should accept Blue's offer if it is $50.00 or more and Rand has excess manufacturing capacity.
(C) Rand should accept Blue’s offer if it is less than $47.00 and Rand has excess manufacturing capacity.
(D) Rand should reject Blue's offer if it is $50.00 or more.

9. Cope, Inc., produces X-57 in a joint manufacturing process. The company is studying whether to sell X-57 at
the split-off point or upgrade the product to become Xylene. The following information has been gathered:
I. Selling price per pound of X-57

[l. Variable manufacturing costs of upgrade process

Ill. Avoidable fixed costs of upgrade process

V. Selling price per pound of Xylene

V. Joint manufacturing costs to produce X-57
Which items should be reviewed when making the upgrade decision?

(A)1, 11, and IV only. (B) 1, I1, lil, and IV only. (C)1, I, IV, and V only. (D) Il and Ill only.

10. A company has 7,000 obsolete toys carried in inventory at a manufacturing cost of $6 per unit. If the toys
are reworked for $2 per unit, they could be sold for $3 per unit. If the toys are scrapped, they could be sold
for $1.85 per unit. Which alternative is more desirable (rework or scrap), and what is the total dollar amount
of the advantage of that alternative?

(A) Scrap, $5,950.  (B) Rework, $36,050. (C) Scrap, $47,950. (D) Rework, $8,050.
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11. Milty Manufacturing occasionally has capacity problems in its metal shaping division, where the chief cost

driver is machine hours. In evaluating the attractiveness of its individual products for decision-making
purposes, which measurement tool should the firm select?

If machine hours do not constrain the If machine hours constrain the number
number of units to be produced of units to be produced
(A) Contribution margin Contribution margin per machine hour
(B)  Gross profit Contribution margin
(C)  Contribution margin - Contribution margin ratio
(D)  Contribution margin per machine hour Contribution margin

12. Aesop Company plans to sell 12,000 units of product XT and 8,000 units of product RP. Aesop has a
capacity of 12,000 productive machine hours. The unit cost structure and machine hours required for each
product are as follows:

Unit costs: XT RP | Aesop can purchase 12,000 units of XT at $60 and/or
Materials $37 | $24 | 8,000 units of RP at $45.
Direct labor 12 13 | Based on the above, which one of the following
Variable overhead 6 3 actions should be recommended to Aesop's
Fixed overhead 37 38 | management?
Machine hours required 1.0 1:5

(A) Produce XT internally and purchase RP. (B) Produce RP internally and purchase XT.

(C) Purchase both XT and RP. (D) Produce both XT and RP.

13. If a product has a price elasticity of demand of 2.0, the demand is said to be
(A) Perfectly elastic. (B) Perfectly inelastic. (C) Relatively elastic. (D) Relatively inelastic.

14. Several surveys point out that most managers use full product costs, including unit fixed costs and unit
variable costs, in developing cost-based pricing. Which one of the following is least associated with
cost-based pricing?

(A) Price stability. (B) Price justification.  (C) Target pricing. (D) Fixed-cost recovery.

15. Systematic evaluation of the trade-offs between product functionality and product cost while still satisfying
customer needs is the definition of

(A) Activity-based management. (B) Theory of constraints.
(C) Total quality management. (D) Value engineering.
16. The relevance of a particular cost to a decision is determined by
(A) Riskiness of the decision. (B) Number of decision variables.
(C) Amount of the cost. (D) Potential effect on the decision.

17. Of the following decisions, capital budgeting techniques would least likely be used in evaluating the
(A) Acquisition of new aircraft by a cargo company.
(B) Design and implementation of a major advertising program.
(C) Trade for a star quarterback by a football team.
(D) Adoption of a new method of allocating nontraceable costs to product lines.

18. Which of the following is not a category of relevant cash flows?
(A) Annual net cash flows. (B) Project termination cash flows.
(C) Incremental cash flows. (D) Net initial investment.
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19. Book rate of return is an unsatisfactory guide to selecting capital projects because
l. It uses accrual accounting numbers.
[l. It compares a single project against the average of capital projects.
lll. It uses cash flows to gauge the desirability of the project.
(A) I only. (B) &L (C) lll only. @) 1,10, &Illl.

20. Macy Home Manufacturing, Inc., is evaluating a proposed acquisition of a new machine at a purchase price
of $380,000 and installation charges that will amount to $20,000. A $15,000 increase in working capital will
be required. The machine will have a useful life of 4 years, after which it can be sold for $50,000. The
estimated annual incremental operating revenues and cash operating expenses are $750,000 and
$500,000, respectively, for each of the 4 years. Macy Home's tax rate is 40%, and the cost of capital is
12%. Macy Home uses straight-line depreciation for both financial reporting and income tax purposes.

If Macy Home accepts the project, the initial investment will be

(A) $345,000 (B) $365,000 (C) $385,000 (D) $415,000

F =345 (40%) :
1. The Meijer Company produces and sells a single product. A standard cost card for the product follows:
Standard Cost Card—per unit of product:

Direct materials, 4 yards at $4.00 per yard $16.00
Direct labor, 1.5 hours at $10.00 per hour 15.00
Variable overhead, 1.5 hours at $3.00 per hour 450

Fixed overhead, 1.5 hours at $7.00 per hour 10.50
Standard cost per unit $46.00

The company manufactured and sold 18,000 units of product during the year. A total of 70,200 yards of
material was purchased during the year at cost of $4.20 per yard. All of this material was used to
manufacture the 18,000 units. The company records showed no beginning or ending inventories for the year.

The company worked 29,250 direct labor-hours during the year at a cost of $9.75 per hour. Overhead cost is
applied to products on the basis of standard direct labor-hours. The denominator activity level (direct
labor-hours) was 22,500 hours. Budgeted fixed manufacturing overhead costs as shown on the flexible
budget were $157,500, while actual fixed manufacturing overhead costs were $156,000. Actual variable
overhead costs were $90,000.

Required (12%):

a. Compute the direct materials price and quantity variances for the year.

b. Compute the direct labor rate and efficiency variances for the year.

c. Compute the variable overhead rate and efficiency variances for the year.

d. Compute the fixed manufacturing overhead budget and volume variances for the year.

2. An inventory item of Holly Corp. has an average daily demand of 25 units with a maximum daily demand of
30 units. The economic order quantity is 500 units. Without safety stocks, the reorder point is 125 units.
Safety stocks are set at 235 units.

Required (9%):

a.Determine the reorder point with safety stocks.
b.Determine the maximum inventory level.

c. Determine the average lead time.
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3. Seven Lakes Corporation has a Parts Division that does work for other Divisions in the company as well as
for outside customers. The company's Machine Products Division has asked the Parts Division to provide it
with 10,000 special parts each year. The special parts would require $15.00 per unit in variable production
costs.

The Machine Products Division has a bid from an outside supplier for the special parts at $29.00 per unit. In
order to have time and space to produce the special part, the Parts Division would have to cut back
production of another part-the H56 that it presently is producing. The H56 sells for $32.00 per unit, and
requires $19.00 per unit in variable production costs. Packaging and shipping costs of the H56 are $3.00 per
unit. Packaging and shipping costs for the new special part would be only $1.00 per unit. The Parts Division
is now producing and selling 40,000 units of the H56 each year. Production and sales of the H56 would drop
by 20% if the new special part is produced for the Machine Products Division.

Required (8%):

a. What is the range of transfer prices within which both the Divisions' profits would increase as a result of
agreeing to the transfer of 10,000 special parts per year from the Parts Division to the Machine Products
Division?

b. Is it in the best interests of Seven Lakes Corporation for this transfer to take place? Explain.

4. The Genesee Valley Company is a merchandising firm that sells a single product. The company's revenues
and expenses for the last three months are given below:.

The Genesee Valley Company
Comparative Income Statement
For the Second Quarter
April May June
Sales in units 4,500 5,250 6,000
Sales revenue $630,000 $735,000 $840,000
Cost of goods sold 252,000 294.000 336,000
Gross margin 378,000 441.000 504.000
Selling and administrative expense:
Shipping expense 56,000 63,500 71,000
Advertising expense 70,000 70,000 70,000
Salaries and commissions 143,000 161,750 180,500
Insurance expense 9,000 9,000 9,000
Depreciation expense 42,000 42,000 42,000
Total selling and administrative expense 320,000 346,250 372,500
Net operating income $58.000 $94.750 $131.500

Required (11%)

a. Determine which expenses are mixed and, by use of the high-low method, separate each mixed expense
into its variable and fixed components. State the cost formula for each mixed expense.

b. Compute the company's total contribution margin for May.
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1. A correct relationship among the auditor, the client, and the external users is
(A) management of a public company hires the independent auditor.
(B) the audit committee of a private company hires the independent auditor.
(C) the client provides capital to the external users.
(D) the external users can rely upon the auditor's report to reduce information risk.
2.  The CPA firm will lose its independence if
(A) a staff auditor providing audit services to the client acquires stock in that client.
(B) a staff tax preparer who provides 15 hours of non-audit services to the client acquires stock
in that client.
(C) an audit manager in an office different than the office providing audit services has a direct,
immaterial financial interest in the audit client.
(D) a covered member has an indirect, immaterial financial interest in an audit client.
3.  The purpose of the requirement in having communication between the predecessor and
successor auditors is to
(A) help the successor auditor to evaluate whether to accept the engagement.
(B) allow the predecessor to disclose information which would otherwise be confidential.
(C) help the client by facilitating the change of auditors.
(D) ensure the predecessor collects all unpaid fees prior to a change in auditor.
4.  An auditor uses monetary unit sampling with a sampling interval of $20,000 and detects an item
' with a recorded amount of $10,000 with an audited value of $4,000. The projected misstatement
of the sample is
(A) $3,000.
(B) $6,000.
(C) §10,000
(D) $12,000.
5. For which of the following accounts is cutoff least important?
(A) cash collections.
(B) sales returns and allowances.
(C) sales.
(D) inventory.
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6.

10.

11.

In searching for unrecorded liabilities the purpose of the audit procedure to "examine

underlying documentation for subsequent cash disbursements" is to

(A) uncover liabilities on the balance sheet which should not have been recorded until a
subsequent period.

(B) uncover payments made in a subsequent accounting period for liabilities that existed at the
balance sheet date.

(C) find the documentation relating to a cash disbursement.

(D) uncover cash disbursements recorded in a subsequent accounting period which should be
recorded in this period.

Proper segregation of functional responsibilities calls for separation of
(A) authorization, execution, and payment.

(B) custody, execution, and reporting.

(C) authorization, recording, and custody.

(D) authorization, payment, and recording.

Analytical procedures must be used during which phase(s) of the audit?

Test of Controls Planning Completion
(A) Yes Yes Yes
(B) No No No
© Yes No No
D) No Yes Yes

Audit standards require the auditor to consider materiality early in the audit. Which

statement(s) regarding preliminary materiality are true?

I. Preliminary materiality may change during the engagement.

11. Preliminary materiality is the maximum amount by which the auditor believes the financials
could be misstated and still not affect the decisions of reasonable users.

(A) I only

(B) 1I only

(C) both I and 1T

(D) neither I nor II

You are auditing the company's purchasing process for goods and services. You are primarily
concerned with the company not recording all purchase transactions. Which audlt procedure
below would be the most effective audit procedure in this case?

(A) vouching from the accounts payable account to the vendor invoices

(B) tracing vendor invoices to recorded amounts in the accounts payable account

(C) confirmation accounts payable recorded amounts

(D) reconciling the accounts payable subsidiary ledger to the accounts payable account

Evidence for a review engagement consists primarily of

Inquiries Analytical procedures Tests of details
(A) No Yes No
(B) Yes Yes No
© No No Yes
(D) Yes No Yes
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I1. Essay Questions (60 points)

1. (18 points)
Match six of the terms (a-k) with the descriptions/definitions provided below (1-6):

a. bank reconciliation g. imprest petty cash fund

b. branch cash account h. kiting -

c. cash equivalents 1. proof of cash

d. cutoff bank statement J. standard bank confirmation form
e. general cash account k. lapping

f. imprest payroll account

. a fund of cash maintained within the company for small cash acquisitions, expenses, or to cash

employees' checks

. a form approved by the AICPA and American Bankers' Association through which the bank

responds to the auditor about bank balance and loan information

. excess cash invested in short-term, highly liquid investments such as time deposits, certificates of

deposit, and money market funds

. the primary bank account for most organizations
5. the transfer of money from one bank account to another and improperly recording the transfer so

that the amount is recorded as an asset in both accounts

. the document usually prepared by client personnel of the differences between the cash balance

recorded in the general ledger and the amount in the bank account
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